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#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR A T &5 DBRB=E| K &&t CH
1 |deiEE 3.0E-1 0.3 0.3
2 |EHE
3 |AFE
4 |EHE 9.4E+0 9.4 9.4
5 (AR
6 [ILZE 3.5E+1 34.5 6.1E+3 6,080.0 6,114.5
7 [EER 8.7E+0 8.7 1.7E+1 17.0 25.7
8 |ZWE 1.2E+3| 1.9E+2 1,380.4 1.9E+2| 2.6E+4 26,387.0 27,767.4
9 |HAE 7.7E+2 772.8 2.6E+0| 2.3E+3 2,347.3 3,120.1
10 [HER 1.8E+2 180.0 34E+2 340.0 520.0
1 [BEE 1.8E+3 1,819.6 8.0E-1| 8.7E+3 8,683.5 10,503.1
12 |FER 5.4E+3 5,439.7 1.9E+4 18,749.7 24,189.4
13 |REHR 1.1E+2 110.0 1.7E+3 1,700.0 1,810.0
14 |[#E)E 1.5E+3 1,500.8 1.7E+4 17,033.2 18,534.0
15 |#iRE 4.9E+2 490.4 4 5E+4 45,000.0 45,4904
16 |[EWE 2.5E+1| 5.0E-1 255 2.8E+3 2,759.1 2,784.6
17 |RINE 8.7E+1 87.0 1.2E+2 1185 205.5
18 |f&@HE 5.5E+1 55.0 9.0E-1| 6.5E+1 65.7 120.7
19 [ILEE 1.1E+3 1,100.0 8.0E+0| 4.8E+3 4,808.0 5,908.0
20 |REFHER 1.4E+2 140.0 6.0E+0| 7.4E+3 7,406.0 7,546.0
21 |IKEBR 5.0E+2| 1.0E+0 4995 1.0E+0| 2.0E+3 2,043.4 2,542.9
22 |E&mER 1.6E+3| 2.8E+1 1,580.4 6.5E+3 6,469.0 8,049.4
23 |BHE 3.7E+3| 4.0E-1 3,693.4 1.4E+4 14,225.0 17,918.4
24 |ZER 4.0E+3 4,034.8 1.1E+4 10,531.0 14,565.8
25 |HER 2.7E+3 2,686.4 1.5E+3 1,460.5 41469
26 |REAT 2.1E+2 212.0 6.0E-1| 3.1E+2 307.9 519.9
27 | KBRAF 7.3E+1 73.4 45E+0| 4.6E+2 468.2 541.6
28 |EER 6.8E+3 6,833.3 7.5E+2 749.0 7,582.3
29 |ERR 1.1E+1 11.0 1.1E+1 11.0 220
30 |FNFLE 28E+1| 7.7E+0 35.7 2.1E+1 205 56.2
31 |BHRE
32 |BRE
33 |EWLE 2.8E+2| 1.0E+0 279.8 1.3E+3 1,300.0 1,579.8
34 |[LER 6.5E+3| 4.1E+2 6,914.2 2.0E+0 2.0 6,916.2
35 |lLAOg 6.7E+2 667.9 1.7E+2 166.0 833.9
36 |EER
37 |BNE 1.7E+2 173.0 6.0E+2 600.0 773.0
38 |BER 6.6E+2| 9.6E+2 1,619.0 3.8E+2 381.0 2,000.0
39 |EER
40 |fERR 3.5E+0 35 2.7E+0 2.7 6.2
41 |*EER 2.1E+1 21.0 21.0
2 |RIBER
43 |RERR
44 | KHR 1.2E+0 1.2 1.2
45 |FIFER
46 |EEER
47 |[HiER
£ E 41E+4| 1.6E+3 42,4726 22E+2| 1.8E+5 180,253.2 2227258
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